

Account name: 10002733

DUPAGE COUNTY
 421 N COUNTY FARM RD
 WHEATON IL 60187-3978

SHIP-TO

DUPAGE COUNTY
 421 N COUNTY FARM RD
 WHEATON IL 60187-3978

We deliver according to the following terms:

Payment Terms : Net 90 days
Ship Via : Insight Assigned Carrier/Ground
Terms of Delivery : FOB DESTINATION
Currency : USD

Quotation	
Quotation Number	: 0229117253
Document Date	: 17-JAN-2026
PO Number	:
PO Release	:
Sales Rep	: Bob Erwin
Email	: BOB.ERWIN@INSIGHT.COM
Phone	: +14803667058
Sales Rep 2	: Michael Bodopol
Email	: MICHAEL.BODOPOL@INSIGHT.COM
Phone	:

This is an 3 Year commitment. Pricing reflects a commitment to the full term and quantities listed. Orders for items in this quote confirm acceptance of these terms and the payment schedule. Purchase Orders are required to reference Insight Quote # 229117253 for processing. If orders are placed annually, they should be submitted at least 15 days before the renewal date. Once accepted, orders are not cancellable, and the full multi-year commitment will apply. These terms will govern the items quoted, notwithstanding any conflicting terms in other agreements between Customer and Insight.

Year 1 - \$128,529.50 To be billed at time of purchase
Year 2 - \$128,529.50 To be billed at anniversary
Year 3 - \$128,529.50 To be billed at anniversary

Material	Material Description	Quantity	Unit Price	Extended Price
SVCNBUFLEXSWV5260	Cohesity NetBackup Flex 5260 - Subscription license - 1 TB Coverage Dates: 18-MAR-2026 - 17-MAR-2027 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 105.99 Discount: 15.181% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027	140	89.90	12,586.00
SVCNBUFLEXSWV5260	Cohesity NetBackup Flex 5260 - Subscription license - 1 TB Coverage Dates: 18-MAR-2026 - 17-MAR-2027 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 105.99 Discount: 15.181% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027	206	89.90	18,519.40
CS4HV5260140TB4X25	Cohesity Premium Support with 4-hour Parts Delivery and HDD Non-Return - extended service agreement - 1 year - shipment OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 5116.99 Discount: 24.673% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027	1	3,854.48	3,854.48
CS4HV5260206TB4X25	Cohesity Premium Support with 4-hour Parts Delivery - Extended service agreement - parts - 1 year - shipment - response time: 4 h - for P/N: V5260-206TB-4X25G-6X32G OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03)	1	4,489.19	4,489.19

Material	Material Description	Quantity	Unit Price	Extended Price
	List Price: 5958.99 Discount: 24.665% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027			
SVC-NBU-ENT	Cohesity NetBackup Enterprise XPLAT - On-premise standard subscription license - 1 front end TB Coverage Dates: 21-MAR-2026 - 20-MAR-2027 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 532.99 Discount: 14.938% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027	70	453.37	31,735.90
SVC-NBU-ENT	Cohesity NetBackup Enterprise XPLAT - On-premise standard subscription license - 1 front end TB Coverage Dates: 22-MAR-2026 - 21-MAR-2027 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 532.99 Discount: 14.938% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027	17	453.37	7,707.29
SAASFORTKNOXNBUAR	Cohesity FortKnox for NetBackup Archive Tier 1 - Subscription license - 1 Terabyte OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 76.99 Discount: 14.314% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027	150	65.97	9,895.50
SAASASPENTM365STEC	Cohesity Alta SaaS Protection Enterprise for Microsoft 365 Suite - Standard subscription license (annual) - 1 user Coverage Dates: 22-MAR-2026 - 21-MAR-2027 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 23.99 Discount: 15.048% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027	1,700	20.38	34,646.00
SAASASPENTADDLSTOC	Cohesity Alta SaaS Protection Enterprise - Standard subscription license (annual) - 5 front end TB Coverage Dates: 22-MAR-2026 - 21-MAR-2027 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 997.99 Discount: 14.900% Year 1 Start Date: 03/18/2026 End Date: 03/17/2027	6	849.29	5,095.74

Material	Material Description	Quantity	Unit Price	Extended Price
SVCNBUFLEXSWV5260	Cohesity NetBackup Flex 5260 - Subscription license - 1 TB Coverage Dates: 18-MAR-2027 - 17-MAR-2028 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 105.99 Discount: 15.181% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028	140	89.90	12,586.00
SVCNBUFLEXSWV5260	Cohesity NetBackup Flex 5260 - Subscription license - 1 TB Coverage Dates: 18-MAR-2027 - 17-MAR-2028 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 105.99 Discount: 15.181% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028	206	89.90	18,519.40
CS4HV5260140TB4X25	Cohesity Premium Support with 4-hour Parts Delivery and HDD Non-Return - extended service agreement - 1 year - shipment OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 5116.99 Discount: 24.673% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028	1	3,854.48	3,854.48
CS4HV5260206TB4X25	Cohesity Premium Support with 4-hour Parts Delivery - Extended service agreement - parts - 1 year - shipment - response time: 4 h - for P/N: V5260-206TB-4X25G-6X32G OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 5958.99 Discount: 24.665% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028	1	4,489.19	4,489.19
SVC-NBU-ENT	Cohesity NetBackup Enterprise XPLAT - On-premise standard subscription license - 1 front end TB Coverage Dates: 21-MAR-2027 - 20-MAR-2028 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 532.99 Discount: 14.938% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028	70	453.37	31,735.90
SVC-NBU-ENT	Cohesity NetBackup Enterprise XPLAT - On-premise standard subscription license - 1 front end TB Coverage Dates: 22-MAR-2027 - 21-MAR-2028 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 532.99	17	453.37	7,707.29

Material	Material Description	Quantity	Unit Price	Extended Price
	Discount: 14.938% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028			
SAASFORTKNOXNBUAR	Cohesity FortKnox for NetBackup Archive Tier 1 - Subscription license - 1 Terabyte OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 76.99 Discount: 14.314% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028	150	65.97	9,895.50
SAASASPENTM365STE	Cohesity Alta SaaS Protection Enterprise for Microsoft 365 Suite - Standard subscription license (annual) - 1 user Coverage Dates: 22-MAR-2027 - 21-MAR-2028 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 23.99 Discount: 15.048% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028	1,700	20.38	34,646.00
SAASASPENTADDLSTO	Cohesity Alta SaaS Protection Enterprise - Standard subscription license (annual) - 5 front end TB Coverage Dates: 22-MAR-2027 - 21-MAR-2028 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 997.99 Discount: 14.900% Year 2 Start Date: 03/18/2027 End Date: 03/17/2028	6	849.29	5,095.74
SVCNBUFLEXSWV5260	Cohesity NetBackup Flex 5260 - Subscription license - 1 TB Coverage Dates: 18-MAR-2028 - 21-MAR-2029 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 105.99 Discount: 15.181% Year 3 Start Date: 03/18/2028 End Date: 03/17/2029	140	89.90	12,586.00
SVCNBUFLEXSWV5260	Cohesity NetBackup Flex 5260 - Subscription license - 1 TB Coverage Dates: 18-MAR-2028 - 21-MAR-2029 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 105.99 Discount: 15.181% Year 3 Start Date: 03/18/2028 End Date: 03/17/2029	206	89.90	18,519.40
CS4HV5260140TB4X25	Cohesity Premium Support with 4-hour Parts Delivery and HDD Non-Return - extended service agreement - 1 year - shipment	1	3,854.48	3,854.48

Material	Material Description	Quantity	Unit Price	Extended Price
	OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 5116.99 Discount: 24.673% Year 3 Start Date: 03/18/2028 End Date: 03/17/2029			
CS4HV5260206TB4X25	Cohesity Premium Support with 4-hour Parts Delivery - Extended service agreement - parts - 1 year - shipment - response time: 4 h - for P/N: V5260-206TB-4X25G-6X32G OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 5958.99 Discount: 24.665% Year 3 Start Date: 03/18/2028 End Date: 03/17/2029	1	4,489.19	4,489.19
SVC-NBU-ENT	Cohesity NetBackup Enterprise XPLAT - On-premise standard subscription license - 1 front end TB Coverage Dates: 21-MAR-2028 - 21-MAR-2029 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 532.99 Discount: 14.938% Year 3 Start Date: 03/18/2028 End Date: 03/17/2029	70	453.37	31,735.90
SVC-NBU-ENT	Cohesity NetBackup Enterprise XPLAT - On-premise standard subscription license - 1 front end TB Coverage Dates: 22-MAR-2028 - 21-MAR-2029 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 532.99 Discount: 14.938% Year 3 Start Date: 03/18/2028 End Date: 03/17/2029	17	453.37	7,707.29
SAASFORTKNOXNBUAR	Cohesity FortKnox for NetBackup Archive Tier 1 - Subscription license - 1 Terabyte OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 76.99 Discount: 14.314% Year 3 Start Date: 03/18/2028 End Date: 03/17/2029	150	65.97	9,895.50
SAASASPENTM365STE	Cohesity Alta SaaS Protection Enterprise for Microsoft 365 Suite - Standard subscription license (annual) - 1 user Coverage Dates: 22-MAR-2028 - 21-MAR-2029 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 23.99 Discount: 15.048% Year 3 Start Date: 03/18/2028	1,700	20.38	34,646.00

Material	Material Description	Quantity	Unit Price	Extended Price
	End Date: 03/17/2029			
SAASASPENTADDLSTC	Cohesity Alta SaaS Protection Enterprise - Standard subscription license (annual) - 5 front end TB Coverage Dates: 22-MAR-2028 - 21-MAR-2029 OMNIA PARTNERS (COBB COUNTY) IT PRODUCTS AND SERVICES(# 23-6692-03) List Price: 997.99 Discount: 14.900% Year 3 Start Date: 03/18/2028 End Date: 03/17/2029	6	849.29	5,095.74
			Product Subtotal	360,557.49
			Services Subtotal	25,031.01
			TAX	0.00
			Total	385,588.50

Thank you for choosing Insight. Please contact us with any questions or for additional information about Insight's complete IT solution offering.

Sincerely,

Bob Erwin
+14803667058
BOB.ERWIN@INSIGHT.COM

Michael Bodopol
MICHAEL.BODOPOL@INSIGHT.COM

To purchase under this contract, your agency must be registered with OMNIA Partners Public Sector.

Insight Global Finance has a wide variety of flexible financing options and technology refresh solutions. Contact your Insight representative for an innovative approach to maximizing your technology and developing a strategy to manage your financial options.

This purchase is subject to Insight's online Terms of Sale unless you are purchasing under an Insight Public Sector, Inc. contract vehicle, in which case, that agreement will govern.

SOFTWARE AND CLOUD SERVICES PURCHASES: If your purchase contains any software or cloud computing offerings ("Software and Cloud Offerings"), each offering will be subject to the applicable supplier's end user license and use terms ("Supplier Terms") made available by the supplier or which can be found at the "terms-and-policies" link below. By ordering, paying for, receiving or using Software and Cloud Offerings, you agree to be bound by and accept the Supplier Terms unless you and the applicable supplier have a separate agreement which governs.

Insight's online Terms of Sale can be found at the "terms-and-policies" link below.

<https://www.insight.com/terms-and-policies>